ECOLIFE

MODEL : CF 9355 (5") - NOWRA QUEEN BED

Assembly Instruction

Item A

36 pes

X

Plastic Dowel ( 8 x 25)

Item B

14 pes

s

JCBC W M6 x 40

Item C

64 pes

Promne

CSK M3.5x 16 mm

Item D

51 pes

[{paassaanany

CSK M4 x 32 mm

32 pes

Item E

[{pmaassaiseannned

CSK M4 x 50 mm

=D

Mini Fix Bolt

Item F

8 pes

Item G

Mini Fix Housing

8 pes

Item H

©

Mini Fix Cap

Item I

56 pes

Q\

Power Nail %

Ttem J

17 pes

O

White Nail Leg

Item K Lpe

Allen Key 100 mm

8 pes

Item L

Plastic Pin 25 mm

Item AA Lpe Item AB Lpe Item AC 2 pes
Headboard Footboard Side Rail 7
Item AD 9 Item AE 1pe Item AF 8 pes
1547mm 16 pcs Slat Center Rail 2050mm Drawer Slide 500
Item AG 8 pes Item AH 4pes Item Al 2pes
\ Legs Support Leg
Drawer Slide 500 100 x 50 x 30(H) 250mm
Ttem 1 4 pcs Item 2 4 pcs Item 3 4 pes Item 4 8 pes
Drawer Front Panel ﬂ Drawer Back Panel H Drawer Bottom Panel Drawer Side Panel
Item 5 8 pes Item 6 1pc 55\ 2 pes Ttem 8 4 pes
Item 9 2 pes Item 10 1 pc Ttem 11 1 pc

Item M

8 pes
(©)mm

JCBC M6 x 30 mm

Item N

8 pes

S

M6 Flat Washers

Item O

2 pes

{paeuuaneed

CSK M4 x 25 mm

Item P

4 pes

JCBC M6 x 50 mm

2 pes
©)mm

Item Q

JCBC M6 x 40 mm

2 pes

Item R

Small Adjuster




p daig

[ doys

¢ darg

9 daig

rX

¢ daig




01 da1s

iii ;oued ay3 Jo apis yloq

ey

0] SMa.Ds By} yoejje 0] oA

g daig

6 da1s




¢1 dais
¢] doig

91 darg




L1 da1s

M3IA MOVE

0z da1s
81 doig




e das
[z da1g




